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sin(90°—A) = 3 U o, tan A &) FH-Z otz (B, 0° <A <90°)
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>
D> MEH:

oHd - T

12

~&B ~

sin(90° — A) = cosA = 1—? ojmz C
BC = /(13k)2 - (12k)2 = 5k
)

. tanA = —
12




2. e O™ e 2R ABC o tiste] sinC, cosC, tanC 9
= otei et

|=|: sinC =

= . cosC =

HE D tanC =

oo Gtk Gl

Zaztgolng meknet s Aelo] o8] ol Zolt 3
.
ol7k 3, Mol 5, BHlo] 4 OJBZ sinC = ¥, cosC = 2,

o N

tanC = ;1 o|ch.




tanA = % o of, sin2 A—cos? A ] ZHS FaEIe}. (S 0° < A < 90°
)

> £
119
b 29

12\ 2 ( 5 )2
< 2 _ 2 _ = _ 9
sin“ A — cos® A <13) 13
_ 144 25 119
© 169 169 169




4.  cos60° x tan 60° + sin 60° = AAISHA?

ov: @3 ® 2 @2v2  ©2V3




S T34 ¥ 0 & AABC 9] Yol 1,
Hkz] 2 9] Zolx 10em ©]th. AC = 12¢m
A w, sin A O] Ff2?

3 \5 6
(Dg\/7 @4? ®3
@? @5

8

AB =20B = 20cm °]1 /C =90°0|B&
BC = V202 - 122 = 16 cm
BC 16 4

i A:=:—:—
S11 AB 20 5




@OScosxsl @ 0<sinx<1 @ 0<tanx<1

@ -1<tanx<0 ® -1<sinx<1

0°<x<90° Y wf0<sinyx<1,0<cosx<1,tanx>0




7.

O ™A 2C = 90° &, sin A +

C
cos A 9] g-& tstoizt. A AN \
13T ?
B
> =
17
ok 1l

AC =132 -52=122 L AC=12
BC 5
sin A = ﬁ 1—3
AC 12
A=—=—
COS NG 13

17
. sin A A=—
sin A + cos 13
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@ uvi )52

0% 10 x sin 45° = 9 x 10 x Y2
=452
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® tany

@ tanx

sin x = cosy = BC




o} 2 ZkA 7—. 3 ABC oA A =34° &
o], o] BC & FatH? (9, sin34° =
0.5592, cos 34° = 0.8290 )

@ 20.141cm @ 21.523cm

@)22.368em @ 23.694cm

® 24.194cm

BC
4° =
sin 3 0

. BC = 40 x 0.5592 = 22.368 (cm)




11. oh& 797 22 AABC 914 AB = 4em A
,BC =8cm, /B=60°<Y o, AC ¢] Zo]

=7

@4 V3em ® 5v3cm
® 6v3cm @ 5+2cm
® T7cm

A

s
/
4

4c

/

1

1£60°

“~_ H -
“~-8em- 7

B >C

AH = 45sin 60°
V3

HC =8-BH
=8 —4cos60°
=8-2=6
AC’ =AH +HC olE&
AC” = (2V3)2 + 62 = 12+ 36 = 48
. x=43(cm)




12.

oh& 87 o] AB & (80

£ 90919 9 ¢ & Ak B4 \

A5 AB o @AY wHS D g

g} 5la, AB = 4cm, /BAC = 30° A -.‘0 B D
~-4cm-

2w, ACBD ¢] {o|=?

D 2v2 (cm?) (@)\/5 (cm?) 3 3v2 (cm?)
@ 33 (cm?) ® 5 (em?)

S5 ~
(BCD = /BAC =30°

/ACB =90° ©|E22 /ABC =60°

ACBD ©] A

/BDC = /CBA - /BCD = 60°-30° =30°

- 1
BD:BC:4Sin30°:4X§:2 (cm)
- (ACBDE] Hol)
:%x2x2><sin(180°—120°)

~ VB (em?)




tan B
® a=ccosB

@c =asin (90° - B)

® c=bsinB+acosB

B

b b
1 B:— =
Ot c ¢ sin B
b b
tan B = — ; =
@ a tan B
@COSBZC—I . a=ccosB
c
® A C oA AB ol & =42 TS H 2 5tH cosB =
BH _
— .. BH =acosB
a
AH —
cos(90 — B) = - . AH=>bsinB

~ ¢c=AH+BH = bsinB +acosB




14. & 283 22 AABC 9IA /B = 45°, /C = 60°, BC = 60cm &
u), AT ©] Zo|& 15}H?

A
B\“ SOcm—' ’C
@ 30(2- v2) em @ 30(4- V2) em
® 30(2- V3) om @)30 (3~ V8) em
® 30 (4~ V3) em
S5
o 60

tan(901i545°)4—tan(90° 60°)

~ tand5° + tan 30°
60

B3

L —
180°

S 34+ vr
180

3- V3)
::mx3—-5%)(an)

A

©
|




15. oh8 233} Zo] AABC o)A A =
75°,/B=60°, AB=10cm ¥ 1,
h ©] Ao|& F5HH?

%cm @ 10cm
@5 vBem 5 W045V2

B

T3} o] A A of|4 BC
Al
10

AD = 10sin60° = 5V3(cm)

sin 60 ° = 122




